Joooon

Jootdoodootdobodgbotdgbougouodoodoodoo




gobbodd gobbobbgoboobbobobooboooboon

gogugotdoboabobgoooobouogobnobobobobobuouoboboboboobo
gogooooooon
oo bobodgogouboogooboboodogoonbobuooubbbooooonbboboouobbboooobo
gogogooogoogoo
U gouobgbuobobooboooooboouooobobobobbbobobobo boboubuobou@
oo

godooobogogogo

godg 0 O g o



1R AR T EAE
W A (Ehr FH)
K S| FHIERTO%E FHIEZE gt
3. ek 864 33 897
1. fuEké 864 33 897
i E & 2D/ NG - G~ W Nl - R - 572, 859 0 572, 859
% A = 5 573, 723 33 573, 756
o (Ehr FH)
K 5 I IERTO%E FHIEZE 3t
1. WREE 46,916 33 46, 949
1. BB EHRE 46,916 33 46, 949
foE & o o o K O I 2 5 M 526, 807 0 526, 807
% i = 7 573,723 33 573, 756




-3 -

ek A HH T SRR T ST B

1. ¥ &
A (A M)
" WEAT D% HIER Rt Bt
1. FZENA 323, 059 0 323,059 | 56.3
2. A& 249, 714 0 249,714 | 43.5
3. fEie 864 33 897 0.2
4. FEILA 86 0 86 0.0
55 A & # 573,723 33 573,756 | 100.0
% (AL M)

T EAE O B RN R
% WENOME | WEMS 2t A o ?; Eiit%:
ERXHE | F & |2 o il

1. REE 46, 916 33 46, 949 33 8.2
2. EXEE 523, 807 0 523, 807 91.3
3. TIHE 3, 000 0 3, 000 0.5
% i = 7t 573,723 33 573, 756 33| 100.0




COER: () 1. b4 (A FM)
A WENOE | W 4 S ok P B B
1. Ak 864 33 897 | 1. fiki 4 33| - s 33
& 864 33 897
3. m M
GR) 1. #REE (TH) 1. REEEE (Hhr  FH)
Wi E ®m o M OJFE N fi
H HIERTORE | i E i ¥oE M R — fﬁgﬁ(ﬁgﬁ\ . B
ERHEe | # F & % o fli] | T
L —fxE B 46, 916 33 46, 949 33| 2. koKt 14
# 33 | 3. AT 116 | D B N\ & 33
EE 2. ekt 14
4. EH N9IT 1= YN 14
3B FU%E 116
- kB 116
4. L5 E A9T
- BB A97
| 46,916 33 46, 949 33




-5 -

w5 ERMEE
1. — sk
(1) #akh
ta 5%
X5 5 4=F~ R fatt B FL% 5 HEE Bt =
(N) (FH) (M) (FH) (M) (FH) (M)
FHIE % 4 18,159 12,925 31,084 5,543 36,627
FHIERT] 4 18,145 12,809 30,954 5,640 36,594
b 0 14 116 130 A 97 33
%4 HREFEY HilE FEFY BEFY FERENE FY | REEANVEIS Y | EEBRE SRR )
(FH) (FH) (FH) (FH) (M) (FA)| BFH4 (FH)
BEFYEONR | MEH 492 1,151 149 911
T IERT 492 1,151 149 908
b 0 0 0 3
%4y KB EEFY EHETFY HRFEY HHFY B FYAHEE .
(FH) (FH) (FH) (FH) (M)
BB FPUEONR | HEE 532 4,623 3,058 2,009
FHIERT 532 4,619 2,949 2,009
b 0 4 109 0




(2) MR R O B T 25 5%

DI BEAD B

X5y W AR HE ek = R BN R G| fi %
(1) (1) ()
fa Bk 14|46 5-SOBICHED # 5y 14[#5 K 14
Tk B 24 55 116[fa 5-SUE I EI M 4y 187 e 4+ 80 F 24 3
WIRFY 4
ELFY 180
Z DLWy A T1|#hfh T4 A T1

(3) Fakt e O B F 5 IR IL

N Y

X5 — AT B
Rtk A% (1) 379,650
WR294E11 A 1 B BUE | E8ka5- A% (1) 438,773
S FEE (%) 52m%8 A
Etakt A% (1) 379,650
WRk2997 A 1B BIE [ 5- A% (M) 434,212
S EE (%) 52m%4 A




1. IUEHE
E Dl
X455 —RATECR, | — AR TR
(M) (M)
R ZE 151,500 147,100
KFZE 185,800 179,200
V. IR FY - Ty T
FHABI AR R n s s LR R N
< O I IO T Al oy fi=

fHIET% 2.075 2.325 4.400 H

fHIE AT 2.075 2.225 4.300 "

[ Dl B 2.075 2.325 4.400 H




